



The Spectrum of a Certain Large Block Matrix

Edris Rawashdeh¹, Heba Adel Abdelkarim², Eman Rawshdeh^{3,*}

¹ Department of Mathematics, Yarmouk University, Irbid, Jordan

² Department of Mathematics, Irbid National University, Irbid, Jordan

³ Department of Basic Scientific Sciences, Al-Huson University College, Al-Balqa Applied University, Irbid, Jordan

Abstract. Large matrices appear in many applications in computer science, physics, chemistry and many other disciplines. This is because such matrices have the ability to hold huge amounts of memory. One of the main properties that researchers are interested in is studying the spectral theory of these matrices. In this paper, we compute the spectrum of a certain large matrix that can serve as an adjacency matrix of a certain clean graph. In particular, we give a full characterization of the eigenvalues and eigenvectors of the intended matrix.

2020 Mathematics Subject Classifications: 15A18, 90C35, 05C50

Key Words and Phrases: Block Matrices, Adjacency Matrices, Eigenvalues, Eigenvectors

1. Introduction

Large matrices are being used more and more in the big data era because of their potential to integrate and connect massive data sources across a wide range of industries, including social media, biology, communication networks, etc (see for example [2], [3], [4], [6], [12], [13], and [14]). For instance, large networks, such as the Internet, can be utilized to describe intriguing global patterns and occurrences. These networks attracted the mathematician who are interested in graph theory. This is because graphs are very useful ways of presenting information about these networks. In fact, the term graph, which represents an abstract mathematical concept, generally refers to an artificial formation of nodes and edges whereas the term network is then reserved for the graphs representing real-world objects in which the nodes represent units of the system and the edges represent the relationships between them, see [7].

The best way to dealing with graphs is the linear algebraic approach, which is to view graphs as matrices and use concepts in linear algebra to design and analyze algorithms for

*Corresponding author.

DOI: <https://doi.org/10.29020/nybg.ejpam.v17i4.5317>

Email addresses: edris@yu.edu.jo (E. Rawashdeh),

dr.heba@inu.edu.jo (H. Adel Abdelkarim), eman.rw@bau.edu.jo (E. Rawshdeh)

graph problems. Moreover, using matrices allows us to apply mathematical and computational tools to summarize and find patterns, especially when complex relationships exist between vertices and edges in a graph. In fact, many mathematical problems necessarily involve inputting certain coefficients into a matrix and studying its spectral properties. This includes studying the properties of a graph in terms of the characteristic polynomials, eigenvalues, and eigenvectors of a particular matrix associated with a graph in order to characterize the properties of a graph and extract information from its structure.

A variety of matrices associated with a graph are used, including adjacency matrices, Laplace matrices, and normalized Laplace matrices. The adjacency matrix of a simple undirected graph is a real symmetric matrix and is therefore orthogonally diagonalizable; its eigenvalues are real algebraic integers. Although the adjacency matrix depends on the vertex labels, its spectrum is a graph invariant, for more details, one can see [1] and [5].

The clean graph $Cl(R)$ is defined to be the graph in which every vertex has the form (a, v) where, a is an idempotent in the ring R and v is a unit. Nicholson [10] was the first to introduce the clean rings. The clean graph of a commutative ring was introduced by Petrović and Pucanović [11] in 2017. Also, in 2021, Habibi et.al. [8], has determined the clique number, the chromatic number and the domination number of the clean graph $Cl(R)$ for some classes of rings. In this paper, we evaluate the spectrum of a certain large block matrix that forms an adjacency matrix of a clean graph.

2. The Main Result

2.1. General

Let $G = (V, E)$ be a graph with vertex set $V(G)$ and edge set $E(G)$. The adjacency matrix of G , denoted by $A(G)$, is a square matrix of order $|V(G)|$ with ij -th entry equals 1 if $v_i v_j$ in $E(G)$ and 0 otherwise, where v_i and v_j are vertices in $V(G)$. Let p be any prime number that is greater than or equal 5, $s = (p - 1)^2$, I_s is the identity matrix of order s , and J_s denote the all-1 square matrix of order s .

Define A as a block matrix

$$A = \begin{pmatrix} K_s & J_s & J_s & J_s \\ J_s & Q_s & J_s & Q_s \\ J_s & J_s & Q_s & Q_s \\ J_s & Q_s & Q_s & Q_s \end{pmatrix} \tag{1}$$

of order $4s$, where $K_s = J_s - I_s$ and Q_s is a triadiagonal matrix of order s defined by

$$(Q_s)_{i,j} = \begin{cases} 0, & \text{if } i \text{ or } j \in \{1, 2, 3, 4\}, \\ 0, & \text{if } i = j, \\ 1, & \text{if } j = i + 1 \text{ and } j \geq 6 \text{ is even,} \\ 1, & \text{if } j = i - 1 \text{ and } j \geq 7 \text{ is odd,} \\ 0, & \text{Otherwise.} \end{cases}$$

In this section, we study the spectrum of the matrix A that is given by (1). This matrix appears in graph theory and it is an adjacency matrix of a clean graph [9].

Let X be an eigenvector of the matrix A corresponding to the eigenvalue λ , by looking deeply to the construction of the matrix A , we may consider the entries of the vector X to be

$$(X)_i = \begin{cases} a_i, & \text{if } i = 1, 2, \dots, s, \\ b_{i-s}, & \text{if } i = s + 1, s + 2, \dots, s + 4, \\ b_{i-s-4}^*, & \text{if } i = s + 5, s + 6, \dots, 2s, \\ c_{i-2s}, & \text{if } i = 2s + 1, 2s + 2, \dots, 2s + 4, \\ c_{i-2s-4}^*, & \text{if } i = 2s + 5, 2s + 6, \dots, 3s, \\ d_{i-3s}, & \text{if } i = 3s + 1, 3s + 2, \dots, 3s + 4, \\ d_{i-3s-4}^*, & \text{if } i = 3s + 5, 3s + 6, \dots, 4s. \end{cases} \quad (2)$$

Since, we have to find λ so that $AX = \lambda X$, then X is an eigenvector of the matrix A corresponding to the eigenvalue λ if and only if all the following equations are satisfied:

$$\sum_{i=1}^s a_i + \sum_{j=1}^4 b_j + \sum_{i=1}^{s-4} b_i^* + \sum_{j=1}^4 c_j + \sum_{i=1}^{s-4} c_i^* + \sum_{j=1}^4 d_j + \sum_{i=1}^{s-4} d_i^* = (\lambda + 1)a_r, \quad (3)$$

$$\sum_{i=1}^s a_i + \sum_{j=1}^4 c_j + \sum_{i=1}^{s-4} c_i^* = \lambda b_m, \quad (4)$$

$$\sum_{i=1}^s a_i + b_{k+1}^* + \sum_{j=1}^4 c_j + \sum_{i=1}^{s-4} c_i^* + d_{k+1}^* = \lambda b_k^*, \quad (5)$$

$$\sum_{i=1}^s a_i + b_k^* + \sum_{j=1}^4 c_j + \sum_{i=1}^{s-4} c_i^* + d_k^* = \lambda b_{k+1}^*, \quad (6)$$

$$\sum_{i=1}^s a_i + \sum_{j=1}^4 b_j + \sum_{i=1}^{s-4} b_i^* = \lambda c_m, \quad (7)$$

$$\sum_{i=1}^s a_i + c_{k+1}^* + \sum_{j=1}^4 b_j + \sum_{i=1}^{s-4} b_i^* + d_{k+1}^* = \lambda c_k^*, \quad (8)$$

$$\sum_{i=1}^s a_i + c_k^* + \sum_{j=1}^4 b_j + \sum_{i=1}^{s-4} b_i^* + d_k^* = \lambda c_{k+1}^*, \quad (9)$$

$$\sum_{i=1}^s a_i = \lambda d_m, \quad (10)$$

$$\sum_{i=1}^s a_i + b_{k+1}^* + c_{k+1}^* + d_{k+1}^* = \lambda d_k^*, \quad (11)$$

and

$$\sum_{i=1}^s a_i + b_k^* + c_k^* + d_k^* = \lambda d_{k+1}^*, \tag{12}$$

where $r = 1, 2, \dots, s, m = 1, 2, 3, 4$, and $k = 1, 3, \dots, s - 5$.

Since equation (10) is true for all $m = 1, 2, 3, 4$, we get

$$4 \sum_{i=1}^s a_i = \lambda \sum_{j=1}^4 d_j. \tag{13}$$

In order to find the eigenvalues of the matrix A , we need first to prove the following lemma.

Lemma 1. *Suppose that X is given by equation (2). If X is an eigenvector of the matrix A corresponding to the eigenvalue λ such that $\lambda \neq 1$ and λ is not a root of the polynomial*

$$q(x) = x^5 - (2s+1)x^4 - (2s^2 - 2s - 1)x^3 + (s^3 - 2s^2 + 26s + 7)x^2 - (8s^2 - 8s - 4)x - 16s, \tag{14}$$

then $\sum_{j=1}^4 (b_j + c_j) = 0$, $\sum_j^4 d_j = 0$, and $\sum_{i=1}^{s-4} d_i^* = 0$.

Proof. Let X be given by (2). If X is an eigenvector of the matrix A corresponding to the eigenvalue λ , then all equations from (3) up to (12) have to be satisfied for all $r = 1, 2, \dots, 5, m = 1, 2, 3, 4$, and $k = 1, 3, \dots, s - 5$.

Substitute equations (4) and (7) in equation (3) to get

$$\lambda(b_m + c_m) - \sum_{i=1}^s a_i + \sum_{j=1}^4 d_j + \sum_{i=1}^{s-4} d_i^* = (\lambda + 1)a_r. \tag{15}$$

Since this equation is true for all $r = 1, 2, \dots, s$ and $m = 1, 2, 3, 4$, we get by the help of equation (13) that

$$s\lambda \sum_{j=1}^4 (b_j + c_j) - (\lambda(\lambda + 1 + s) - 4s) \sum_{j=1}^4 d_j + 4s \sum_{i=1}^{s-4} d_i^* = 0. \tag{16}$$

Subtract equation (4) from equation (5) and equation (4) from equation (6) and in the same way subtract equation (7) from equation (8) and equation (7) from equation (9) to get

$$(\lambda - 1)(b_k^* + b_{k+1}^* + c_k^* + c_{k+1}^*) = 2(d_k^* + d_{k+1}^*) + 2\lambda(b_m + c_m), \tag{17}$$

using equations (11) and (12), equation (17) becomes

$$(\lambda - 1)^2(d_k^* + d_{k+1}^*) - 2(\lambda - 1) \sum_{i=1}^s a_i = 2(d_k^* + d_{k+1}^*) + 2\lambda(b_m + c_m). \tag{18}$$

Since this equation is true for all $k = 1, 3, 5, \dots, s - 4$ and $m = 1, 2, 3, 4$, we get by the help of equation (13) that

$$4((\lambda - 1)^2 - 2) \sum_{i=1}^{s-4} d_i^* = \lambda(\lambda - 1)(s - 4) \sum_{j=1}^4 d_j + \lambda(s - 4) \sum_{j=1}^4 (b_j + c_j). \tag{19}$$

From equation (17), we get

$$(\lambda - 1) \sum_{i=1}^{s-4} (b_i^* + c_i^*) = 2 \sum_{i=1}^{s-4} d_i^* + \lambda(s - 4)(b_m + c_m). \tag{20}$$

Adding equation (4) to equation (7) and use (13), equation (28) becomes

$$8 \sum_{i=1}^{s-4} d_i^* = 2\lambda(1 - \lambda) \sum_{j=1}^4 d_j + (\lambda^2 - (s + 1)\lambda + 4) \sum_{j=1}^4 (b_j + c_j). \tag{21}$$

Equations (16), (19), and (21) form a homogeneous linear system with the variables $\sum_j^4 d_j$, $\sum_{i=1}^{s-4} d_i^*$, and $\sum_{j=1}^4 (b_j + c_j)$ that has the coefficient matrix

$$B = \begin{pmatrix} s\lambda & -(\lambda(\lambda + 1 + s) - 4s) & 4s \\ \lambda(s - 4) & \lambda(\lambda - 1)(s - 4) & 4(2 - (\lambda - 1)^2) \\ (\lambda^2 - (s + 1)\lambda + 4) & 2\lambda(1 - \lambda) & -8 \end{pmatrix}. \tag{22}$$

Using Maple, we can compute the determinant of the matrix B to get

$$\det(B) = 4(\lambda - 1)q(\lambda),$$

where

$$q(\lambda) = (\lambda^5 - (2s + 1)\lambda^4 - (2s^2 - 2s - 1)\lambda^3 + (s^3 - 2s^2 + 26s + 7)\lambda^2 - (8s^2 - 8s - 4)\lambda - 16s).$$

Thus if $\lambda \neq 1$ and λ is not a root of the polynomial $q(x)$, then $\sum_{j=1}^4 (b_j + c_j) = 0$, $\sum_j^4 d_j = 0$, and $\sum_{i=1}^{s-4} d_i^* = 0$.

Remark 1. Let λ be an eigenvalue of the matrix A with corresponding eigenvector X given by (2).

- (I) It is clear from equation (3) that if $\lambda \neq -1$, then $a_1 = a_2 = \dots = a_s = a$.
- (II) Subtracting equation (5) from (6) and equation (8) from equation (9), we find that

$$(\lambda + 1)(b_{k+1}^* - b_k^*) = (\lambda + 1)(c_{k+1}^* - c_k^*) = d_k^* - d_{k+1}^*. \tag{23}$$

Also subtract equation (11) from equation (12) to get

$$(\lambda + 1)(d_k^* - d_{k+1}^*) = b_{k+1}^* - b_k^* + c_{k+1}^* - c_k^*. \tag{24}$$

Thus from equations (23) and (24), we obtain

$$(\lambda^2 + 2\lambda - 1)(d_k^* - d_{k+1}^*) = 0. \tag{25}$$

This gives us that if $\lambda^2 + 2\lambda - 1 \neq 0$ and $\lambda \neq -1$, then from equations (23) and (25) we have $b_k^* = b_{k+1}^*$, $c_k^* = c_{k+1}^*$ and $d_k^* = d_{k+1}^*$ for all $k = 1, 3, \dots, s - 5$.

(III) If $\lambda^2 - 2\lambda - 1 \neq 0$, $\sum_{i=1}^s a_i = 0$ and $b_m + c_m = 0$ for all $m = 1, 2, 3, 4$, then from equation (18), $d_k^* = -d_{k+1}^*$ for all $k = 1, 3, \dots, s - 5$.

(IV) If $\lambda \neq 0$, we get from equations (4), (6), and (12) that $b_1 = b_2 = \dots = b_4 = b$, $c_1 = c_2 = \dots = c_4 = c$, and $d_1 = d_2 = \dots = d_4 = d$.

(V) If $\lambda \neq 0$ and $\lambda^2 + 2\lambda - 1 \neq 0$ then by subtracting equation (4) from (5), we get $b_k^* + d_k^* = \lambda b_k^* - \lambda b$. Thus if $\sum_{i=1}^{s-4} d_i^* = 0$, then

$$(\lambda - 1) \sum_{i=1}^{s-4} b_i^* = \lambda(s - 4)b. \tag{26}$$

(VI) If $\lambda \neq 0$, $\lambda \neq 1$, $\lambda^2 + 2\lambda - 1 \neq 0$, and $q(\lambda) \neq 0$, then from Lemma 1 and part (IV) of this remark, we have

$$\sum_j^4 d_j = \sum_{i=1}^{s-4} d_i^* = 4(b + c) = 0,$$

so from equation (13), we obtain $\sum_{i=1}^s a_i = 0$. Thus, equation (7) implies that

$$4b + \sum_{i=1}^{s-4} b_i^* = -\lambda b. \tag{27}$$

From equations (26) and (27), we get

$$(\lambda^2 + (s - 1)\lambda - 4)b = 0. \tag{28}$$

Based on this remark and Lemma 1, we have the following results.

Lemma 2. $\lambda = -1$ is an eigenvalue of the matrix A with multiplicity is greater than or equal to $s - 1 + \frac{s-4}{2}$.

Proof. We have to show that all equations from (3) to (12) are satisfied with $\lambda = -1$. If $\lambda = -1$, then from equation (13), Lemma 1, and Remark 1, we get $\sum_{i=1}^s a_i = 0$, $b_1 = b_2 = \dots = b_4 = b = 0$, $c_1 = c_2 = \dots = c_4 = c = 0$, and $d_1 = d_2 = d_3 = d_4 = d = 0$. Now, from equations (18) and (23), we get $d_k^* = 0(d_k^* = d_{k+1}^* = -d_{k+1}^*)$ for all $k = 1, 2, \dots, s - 4$. By subtracting equation (4) from equations (5) and equation (7) from equation (8), we get $b_k^* = -b_{k+1}^*$ and $c_k^* = -c_{k+1}^*$ for all $k = 1, 3, \dots, s - 5$. From equation (12), we get $b_k^* = -c_k^*$ for all $k = 1, 2, \dots, s - 4$. Based on these facts, the vector X with entries

$$(X)_i = \begin{cases} a_i, & \text{if } i = 1, 2, \dots, s, \\ 0, & \text{if } i = s + 1, s + 2, \dots, s + 4, \\ b_{i-s-4}^*, & \text{if } i = s + 5, s + 6, \dots, 2s, \\ 0, & \text{if } i = 2s + 1, 2s + 2, \dots, 2s + 4, \\ -b_{i-2s-4}^*, & \text{if } i = 2s + 5, 2s + 6, \dots, 3s, \\ 0, & \text{if } i = 3s + 1, 3s + 2, \dots, 3s + 4, \\ 0, & \text{if } i = 3s + 5, 3s + 6, \dots, 4s. \end{cases} \tag{29}$$

satisfy all equations from (3) to (12) with $\lambda = -1$ provided that $\sum_{i=1}^s a_i = 0$ and $b_k^* = -b_{k+1}^*$ for all $k = 1, 3, \dots, s-5$. Thus, X is the corresponding eigenvector for the eigenvalue $\lambda = -1$ of A . Therefore, $\lambda = -1$ is an eigenvalue of the matrix A with multiplicity is greater than or equal to $s - 1 + \frac{s-4}{2}$.

Corollary 1. $\lambda = 0$ is an eigenvalue of the matrix A with multiplicity is greater than or equal to 9.

Proof. If $\lambda = 0$, then subtraction equation (4) from (5) and (7) from (8), we get

$$b_k^* + d_k^* = c_k^* + d_k^* = 0. \tag{30}$$

From Lemma 1, equation (13), equation (12), and equation (30), we get $a_1 = a_2 = \dots = a_s = 0$, $b_1^* = b_2^* = \dots = b_{s-4}^* = 0$, $c_1^* = c_2^* = \dots = c_{s-4}^* = 0$, and $d_1^* = d_2^* = \dots = d_{s-4}^* = 0$.

Thus, from equations (4) and (7), we get

$$\sum_{j=1}^4 b_j = \sum_{j=1}^4 c_j = \sum_{j=1}^4 d_j = 0.$$

Under these conditions, the vector X that has the entries

$$(X)_i = \begin{cases} 0, & \text{if } i = 1, 2, \dots, s, \\ b_i, & \text{if } i = s + 1, s + 2, \dots, s + 4, \\ 0, & \text{if } i = s + 5, s + 6, \dots, 2s, \\ c_i, & \text{if } i = 2s + 1, 2s + 2, \dots, 2s + 4, \\ 0, & \text{if } i = 2s + 5, 2s + 6, \dots, 3s, \\ d_i, & \text{if } i = 3s + 1, 3s + 2, \dots, 3s + 4, \\ 0, & \text{if } i = 3s + 5, 3s + 6, \dots, 4s. \end{cases} \tag{31}$$

such that $\sum_{j=1}^4 b_j = \sum_{j=1}^4 c_j = \sum_{j=1}^4 d_j = 0$ is the corresponding eigenvector for the eigenvalue $\lambda = 0$ of A . Thus, $\lambda = 0$ is an eigenvalue of the matrix A with multiplicity is greater than or equal to 9.

Corollary 2. The roots of the quadratic polynomial $x^2 + 2x - 1 = 0$ are eigenvalues of the matrix A with multiplicity is greater than or equal to $\frac{s-4}{2}$.

Proof. If $\lambda = -1 \pm \sqrt{2}$ are the roots of the quadratic equation $x^2 + 2x - 1 = 0$, then from equation (18), Remark 1 and Lemma 1, we get $d_k^* = -d_{k+1}^*$ for all $k = 1, 3, \dots, s-5$. Then, if we add equation (5) to (6) and equation (7) to (8), we get $b_k^* = -b_{k+1}^*$ and $c_k^* = -c_{k+1}^*$, respectively, for all $k = 1, 3, \dots, s-5$ and so $\sum_{i=1}^{s-4} b_i^* = \sum_{i=1}^{s-4} c_i^* = 0$. Thus, from equations (4) and (7), we obtain $b = c = 0$. From equation (23), we get $b_k^* = c_k^*$ and $d_i^* = (\lambda + 1)b_i^*$

for all $k = 1, 2, \dots, s - 5$. Hence, one can show that the vector X with entries

$$(X)_i = \begin{cases} 0, & \text{if } i = 1, 2, \dots, s, \\ 0, & \text{if } i = s + 1, s + 2, \dots, s + 4, \\ b_{i-s-4}^*, & \text{if } i = s + 5, s + 6, \dots, 2s, \\ 0, & \text{if } i = 2s + 1, 2s + 2, \dots, 2s + 4, \\ b_{i-2s-4}^*, & \text{if } i = 2s + 5, 2s + 6, \dots, 3s, \\ 0, & \text{if } i = 3s + 1, 3s + 2, \dots, 3s + 4, \\ d_{i-2s-4}^*, & \text{if } i = 3s + 5, 3s + 6, \dots, 4s. \end{cases} \tag{32}$$

such that $b_k^* = -b_{k+1}^*$ for all $k = 1, 3, \dots, s - 5$ and $d_i^* = (\lambda + 1)b_i^*$ for all $i = 1, 2, \dots, s - 4$ is the corresponding eigenvector for the eigenvalues $\lambda = -1 \pm \sqrt{2}$. Thus, If $\lambda = -1 \pm \sqrt{2}$, then they are eigenvalues of the matrix A with multiplicity is greater than or equal to $\frac{s-4}{2}$.

Similar to corollary 2.5, one can prove that the vector X with entries

$$(X)_i = \begin{cases} 0, & \text{if } i = 1, 2, \dots, s, \\ 0, & \text{if } i = s + 1, s + 2, \dots, s + 4, \\ b_{i-s-4}^*, & \text{if } i = s + 5, s + 6, \dots, 2s, \\ 0, & \text{if } i = 2s + 1, 2s + 2, \dots, 2s + 4, \\ b_{i-2s-4}^*, & \text{if } i = 2s + 5, 2s + 6, \dots, 3s, \\ 0, & \text{if } i = 3s + 1, 3s + 2, \dots, 3s + 4, \\ d_{i-2s-4}^*, & \text{if } i = 3s + 5, 3s + 6, \dots, 4s. \end{cases} \tag{33}$$

with $\sum_{i=1}^{s-4} b_i^* = 0$ and $b_k^* = b_{k+1}^*$ for all $k = 1, 3, \dots, s - 5$ and $d_i^* = (\lambda - 1)b_i^*$ for all $i = 1, 2, \dots, s - 4$ is an eigenvector of A associated with the eigenvalues $\lambda = 1 \pm \sqrt{2}$ which are the roots of the equation $x^2 - 2x - 1 = 0$. Therefore, we have the following result.

Corollary 3. $\lambda = 1 \pm \sqrt{2}$ are eigenvalues of the matrix A with multiplicity is greater than or equal to $\frac{s-4}{2} - 1$.

Corollary 4. The roots of the equation $x^2 + (s - 1)x - 4 = 0$ are eigenvalues of the matrix A with multiplicity is greater than or equal to one.

Proof. If λ is a root of $x^2 + (s - 1)x - 4 = 0$, then from Lemma 1 and equation (10), we get $\sum_{j=1}^4 (b_j + c_j) = \sum_{j=1}^4 d_j = \sum_{i=1}^{s-4} d_i^* = 0$ and $d_1 = d_2 = d_3 = d_4 = 0$, respectively. From equations (18) and (23), we get $d_k^* = 0 (d_k^* = d_{k+1}^* = -d_{k+1}^*)$ for all $k = 1, 2, \dots, s - 4$. Then, from equations (5) and (8), we get $b_1^* = b_2^* = \dots = b_{s-4}^* = b^*$ and $c_1^* = c_2^* = \dots = c_{s-4}^* = c^*$. Thus from equation (17), we have $c^* = -b^*$. Finally, from

equations (26), we get $b^* = \frac{\lambda}{\lambda-1}b$. Hence, the vector X with entries

$$(X)_i = \begin{cases} 0, & \text{if } i = 1, 2, \dots, s, \\ b, & \text{if } i = s + 1, s + 2, \dots, s + 4, \\ b^*, & \text{if } i = s + 5, s + 6, \dots, 2s, \\ -b, & \text{if } i = 2s + 1, 2s + 2, \dots, 2s + 4, \\ -b^*, & \text{if } i = 2s + 5, 2s + 6, \dots, 3s, \\ 0, & \text{if } i = 3s + 1, 3s + 2, \dots, 3s + 4 \\ 0, & \text{if } i = 3s + 5, 3s + 6, \dots, 4s. \end{cases} \tag{34}$$

such that $b^* = \frac{\lambda}{\lambda-1}b$ is an eigenvector A associated with the eigenvalue λ , where $\lambda^2 + (s - 1)\lambda - 4 = 0$. Hence, If λ is a root of the equation $x^2 + (s - 1)x - 4 = 0$, then it is an eigenvalue of the matrix A with multiplicity is greater than or equal to one.

Remark 2. (1) It is not difficult to show that the eigenvalues that we so far discovered none of them is a root of the polynomial $q(x)$ that is given by (14).

(2) Suppose $\lambda = 1$ or λ is a root of the polynomial $q(x)$. Then, from equation (3), we have $a_1 = a_2 = \dots = a_s = a$. Since $\lambda^2 + 2\lambda - 1 \neq 0$, then we get from Remark (1) that $d_k^* = d_{k+1}^*$, $b_k^* = b_{k+1}^*$ and $c_k^* = c_{k+1}^*$ for all $k = 1, 3, \dots, s - 5$. Since $\lambda \neq 0$, then from equations (4), (7), and (10), we obtain $b_1 = b_2 = \dots = b$, $c_1 = c_2 = \dots = c$, and $d_1 = d_2 = d_3 = d_4 = 0$. Moreover, from equation (18), we get $d_1^* = d_2^* = \dots = d_{s-4}^* = d^*$ and if $\lambda \neq 1$, we get from equation (5) and (8) that $b_1^* = b_2^* = \dots = b_{s-4}^* = b^*$ and $c_1^* = c_2^* = \dots = c_{s-4}^* = c^*$. Therefore, we have the following lemmas.

Lemma 3. $\lambda = 1$ is an eigenvalue of the matrix A with multiplicity is greater than or equal to $\frac{s-4}{2} - 1$.

Proof. If $\lambda = 1$, then using Remark (2) and by subtracting equation (4) from equation (5) and equation (7) from equation (8), we get $d^* = -c = -b$. Equation (12) gives $sa = -(b_k^* + c_k^*)$ for all $k = 1, 2, \dots, s - 4$. Add equation (4) to equation (7) to get

$$6b + (6s - s^2)a = 0$$

and from equation (10) and (15), we get

$$(6 - s)b + (3s - 2)a = 0.$$

Since $s > 16$, then we can show that $b = a = 0$ and $d^* = -c = d = 0$ and so $c_k^* = -b_k^*$ for all $k = 1, 2, \dots, s - 4$. Moreover, from equation (7), we get $\sum_{j=1}^4 b_j^* = 0$. Therefore, the

vector X with entries

$$(X)_i = \begin{cases} 0, & \text{if } i = 1, 2, \dots, s, \\ 0, & \text{if } i = s + 1, s + 2, \dots, s + 4, \\ b_{i-s-4}^*, & \text{if } i = s + 5, s + 6, \dots, 2s, \\ 0, & \text{if } i = 2s + 1, 2s + 2, \dots, 2s + 4, \\ -b_{i-2s-4}^*, & \text{if } i = 2s + 5, 2s + 6, \dots, 3s, \\ 0, & \text{if } i = 3s + 1, 3s + 2, \dots, 3s + 4, \\ 0, & \text{if } i = 3s + 5, 3s + 6, \dots, 4s. \end{cases} \quad (35)$$

such that $\sum_{i=1}^{s-4} b_i^* = 0$ and $b_k^* = b_{k+1}^*$ for all $k = 1, 3, \dots, s - 5$ is an eigenvector for $\lambda = 1$ of the matrix A , which means that $\lambda = 1$ is an eigenvalue of the matrix A with multiplicity is greater than or equal to $\frac{s-4}{2} - 1$.

Lemma 4. Let λ be a root of the polynomial $q(x)$ that is given by (14), then λ is an eigenvalue of the matrix A with multiplicity is greater than or equal to one.

Proof. If $q(\lambda) = 0$, then from Remark 2 and since $\lambda \neq 1$, we have $a_1 = a_2 = \dots = a_s = a$, $b_1 = b_2 = \dots = b$, $c_1 = c_2 = \dots = c$, $b_1^* = b_2^* = \dots = b_{s-4}^* = b^*$ and $c_1^* = c_2^* = \dots = c_{s-4}^* = c^*$. Now subtraction equation (7) from equation (4) gives

$$4(c - b) + (s - 4)(c^* - b^*) = \lambda(b - c).$$

Also, subtraction equation (8) from equation (6) gives

$$(b^* - c^*) + 4(c - b) + (s - 4)(c^* - b^*) = \lambda(b^* - c^*).$$

Solve these equations to get $b = c$ and $b^* = c^*$. Equations (3) to (12) will be reduced to the following linear system:

$$\begin{aligned} (s - (\lambda + 1))a + 8b + 2(s - 4)b^* + 4d + (s - 4)d^* &= 0 \\ sa + (4 - \lambda)b + (s - 4)b^* &= 0 \\ sa + 4b + (s - 3 - \lambda)b^* + d^* &= 0 \\ sa - \lambda d &= 0 \\ sa + 2b^* + (1 - \lambda)d^* &= 0. \end{aligned} \quad (36)$$

Thus, λ is an eigenvalue of A if the system given by (36) has a nontrivial solution. Using Maple, we can see that this system has only one free variable if $q(\lambda) = 0$ and has only the trivial solution if $q(\lambda) \neq 0$. Thus the roots of the polynomial $q(x)$ form eigenvalues of the matrix A with multiplicity is at least one.

Considering the above Lemmas and corollaries, we reach to the main theorem of the paper.

Theorem 1. *The spectral radius of the matrix A is given by*

$$\sigma(A) = \begin{pmatrix} -1 & 0 & -1 \pm \sqrt{2} & 1 \pm \sqrt{2} & 1 & \lambda_1 & \lambda_2 & \dots & \lambda_7 \\ \frac{3s-6}{2} & 9 & \frac{s-4}{2} & \frac{s-6}{2} & \frac{s-6}{2} & 1 & 1 & \dots & 1 \end{pmatrix},$$

where $\lambda_1, \lambda_2, \dots, \lambda_7$ are the distinct real roots of the polynomial

$$(x^2 + (s-1)x - 4)q(x),$$

where $q(x)$ is given by (14).

Proof. It is not difficult to show that the sign of $q(0), q(s)$, and $q(-s)$ is negative and the sign of $q(1), q(-1)$, and $q(3s)$ is positive, thus by applying the intermediate value theorem, the polynomial $q(x)$ has five different real roots, and since the roots of the quadratic polynomial $(x^2 - (s-1)x + 4)$ are not roots of $q(x)$, we get that the polynomial $(x^2 - (s-1)x + 4)q(x)$ has seven distinct real roots. Moreover, the summation of the lower bound of the multiplicity of each eigenvalues of the matrix A that we found through this section is $4s$ which is the size of the matrix A . Therefore, the multiplicity of each eigenvalue is exactly the lower bound. This completes the proof.

3. Conclusions

The spectrum of a certain large block matrix has been determined. This matrix can be considered as an adjacency matrix of a certain graph. More precisely, it has been proved that the proposed matrix has fourteen distinct eigenvectors. In addition the eigenspace of each eigenvalue has been determined.

References

- [1] N.L. Biggs. *Algebraic Graph Theory*. Cambridge University Press, Cambridge, 1993.
- [2] A. Bonato, D. Gleich, M. Kim, D. Mitsche D, P. Prałat, and and S. Young Y. Tian. Dimensionality of social networks using motifs and eigenvalues. *PLoS One*, 9:1–7, 2014.
- [3] F. W. Byron and R. W. Fuller. *Mathematics of Classical and Quantum Physics*. Dover, New York, 1992.
- [4] R. K. Chouhan, A. Alam, S. Ghosh, and A. Mookerjee. Ab initio study of phonon spectrum, entropy and lattice heat capacity of disordered re-w alloys. *J Phys Condens Matter*, 24(37):375401, 2012.
- [5] F.R.K. Chung. *Spectral Graph Theory*. American Mathematical Society, Rhode Island, 1997.

- [6] L. Covaci, F. M. Peeters, and M. Berciu. Efficient numerical approach to inhomogeneous superconductivity: The chebyshev-bogoliubov-de gennes method. *Phys. Rev. Lett.*, 105:167006, 2010.
- [7] J. Garcia. Communication using eigenvalues of higher multiplicity of the nonlinear fourier transform. *Journal of Lightwave Technology*, 36(23):5442–5450, 2018.
- [8] M. Habib, E. Y. Celikel, and C. Abdioglu. Clean graph of a ring. *J. Algebra Appl.*, 20(9):2150156, 2021.
- [9] F. Harary. *Graph theory*. Addison-Wesley, Ann Arbor, Michigan, 1970.
- [10] W. K. Nicholson. Lifting idempotents and exchange rings. *Trans. Amer. Math. Soc.*, 229:269–278, 1977.
- [11] Z. Petrovic and Zoran S. Pucanovic. The clean graph of a commutative ring. *Ars Comb.*, 134:363–378, 2017.
- [12] L. Tsoulfidis and I. Athanasiadis. A new method of identifying key industries: a principal component analysis. *Journal of Economic Structures*, 2(23):1–23, 2022.
- [13] V. Wedeen, R. Wang, J. Schmahmann, T. Benner, W. Tseng, G. Dai, D. Pandya, P. Hagmann, H. D’Arceuil, and A. de Crespigny. Diffusion spectrum magnetic resonance imaging (dsi) tractography of crossing fibers. *NeuroImage*, 41(4):1267–1277, 2008.
- [14] Yi-Hui Zhou, J. S. Marron, and A. Fred. Eigenvalue significance testing for genetic association. *Biometrics*, 74(2):439–447, 2018.